Battery Mount

BM-E8031.a
BM-E8031-s

? TL-BME04
TL-BMEO5

BM-E8031-B

N

BM-E8031-A

ITEM SHIMANO
NO. CODE NO. DESCRIPTION
1 Y7GS00090 Bracket Fixing Screw (M6 x 10)
2 Y7GT98020 Upper Mount Unit
3 Y7GS00100 Upper Base Fixing Screw A (M5 x 18)
4 Y7GS00110 Upper Base Fixing Screw B (M4 x 8)
5 Y7GS98020 Spring Unit & Fixing Screw (M3 x 4)
6 Y7GS00230 Stopper Screw (M4 x 5)
7 Y7GS00200 Lower Mount Rubber L
8 Y7GS00190 Lower Mount Rubber R
9 Y7GS00350 Lower Bracket Fixing Screw (M6 x 12)
10 Y7GS00220 Lower Bracket Rubber B
11 Y7GS00210 Lower Bracket Rubber A
12 Y13000050 TL-BMEO4 Battery Mount Setting Tool
* Y13000070 TL-BMEOQS5 Battery Mount Setting Tool

Jul.-2020-4531A
© Shimano Inc. I

Specifications are subject to change without notice.

SHIMANO



